						J&B Five Point		C&C Directional Boring,	
	Respondent's Business Nam					Construction, LLC		LLC	
	Principal Place of	Principal Place of Business (City and Stat			Just	in, TX	Shady S	hores, TX	
Line #	Description	Mfgno	QTY	UOM	Unit	Extended	Unit	Extended	
1	SECTION I - DIRECTIONAL BORE WITH NO CASING - Contractor is to install conduit lin	nes provide	ed by th	e City.	Pit excavatio	n and backfill	is to be inclu	uded.	
2	Bore in Dirt with 2in or 2.5in Conduit Line installed	DBW1	20000	FT	\$14.00	\$280,000.00	\$12.00	\$240,000.00	
3	Bore in Rock with 2in or 2.5in Conduit Line installed	DBW2	2000	FT	\$16.00	\$32,000.00	\$15.00	\$30,000.00	
4	Bore in Dirt with 4in Conduit Line installed	DBW3	10000	FT	\$18.00	\$180,000.00	\$14.00	\$140,000.00	
5	Bore in Rock with 4in Conduit Line installed	DBW4		FT	\$20.00	\$20,000.00	\$17.00	\$17,000.00	
6	Bore in Dirt with 6in Conduit Line installed	DBW5	5000	FT	\$22.00	\$110,000.00	\$18.00	\$90,000.00	
7	Bore in Rock with 6in Conduit Line installed	DBW6	400	FT	\$24.00	\$9,600.00	\$20.00	\$8,000.00	
8	8in Diameter Bore in Dirt with Conduit Lines installed	DBW7	4000	FT	\$22.00	\$88,000.00	\$22.00	\$88,000.00	
9	8in Diameter Bore in Rock with Conduit Lines installed	DBW8	400	FT	\$24.00	\$9,600.00	\$25.00	\$10,000.00	
10	10in Diameter Bore in Dirt with Conduit Lines installed	DBW9	4000	FT	\$22.00	\$88,000.00	\$24.00	\$96,000.00	
11	10in Diameter Bore in Rock with Conduit Lines installed	DBW10	400	FT	\$24.00	\$9,600.00	\$26.00	\$10,400.00	
12	12in Diameter Bore in Dirt with Conduit Lines installed	DBW11	2000	FT	\$22.00	\$44,000.00	\$26.00	\$52,000.00	
13	12in Diameter Bore in Rock with Conduit Lines installed	DBW12	500	FT	\$24.00	\$12,000.00	\$28.00	\$14,000.00	
14	14in Diameter Bore in Dirt with Conduit Lines installed	DBW13	2000	FT	\$26.00	\$52,000.00	\$28.00	\$56,000.00	
15	14in Diameter Bore in Rock with Conduit Lines installed	DBW14	500	FT	\$28.00	\$14,000.00	\$30.00	\$15,000.00	
16	16in Diameter Bore in Dirt with Conduit Lines installed		2000	FT	\$30.00	\$60,000.00	\$30.00	\$60,000.00	
17	16in Diameter Bore in Rock with Conduit Lines installed	DBW16	500	FT	\$32.00	\$16,000.00	\$32.00	\$16,000.00	
18	18in Diameter Bore in Dirt with Conduit Lines installed	DBW17	2000	FT	\$34.00	\$68,000.00	\$34.00	\$68,000.00	
19	18in Diameter Bore in Rock with Conduit Lines installed	DBW18	500	FT	\$36.00	\$18,000.00	\$36.00	\$18,000.00	
20	20in Diameter Bore in Dirt with Conduit Lines installed		2000	FT	\$38.00	\$76,000.00	\$38.00	\$76,000.00	
21	20in Diameter Bore in Rock with Conduit Lines installed	DBW20	500	FT	\$40.00	\$20,000.00	\$40.00	\$20,000.00	
	24in Diameter Bore in Dirt with Conduit Lines installed	DBW21	2000	FT	\$42.00	\$84,000.00	\$40.00	\$80,000.00	
23	24in Diameter Bore in Rock with Conduit Lines installed		500	FT	\$44.00	\$22,000.00	\$42.00	\$21,000.00	
	30in Diameter Bore in Dirt with Conduit Lines installed			FT	\$46.00	\$92,000.00	\$247.00	\$494,000.00	
	30in Diameter Bore in Rock with Conduit Lines installed		500	FT	\$48.00	\$24,000.00	\$424.00	\$212,000.00	
26	36in Diameter Bore in Dirt with Conduit Lines installed			FT	\$50.00	. ,	\$297.00	\$594,000.00	
	36in Diameter Bore in Rock with Conduit Lines installed			FT	\$52.00	. ,	\$509.00	\$254,500.00	
70	SECTION II: DIRECTIONAL BORES WITH STEEL CASING AND CONDUIT LINES INS	TALLED.	Price in	ncludes	all costs requ	iired per speci	fications exc	luding steel	
20	casing and conduit line costs. Pit excavation and backfill to be included.			_					
	Bore in Dirt for 6in diameter steel casing with Conduit Lines installed in Steel Casing			FT	\$48.00	\$96,000.00	\$18.00	\$36,000.00	
	Bore in Rock for 6in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC2	200	FT	\$58.00	\$11,600.00	\$25.00	\$5,000.00	
31	Bore in Dirt for 8in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC3	1000	FT	\$52.00	\$52,000.00	\$23.00	\$23,000.00	
	Bore in Rock for 8in diameter steel casing with Conduit Lines installed in Steel Casing			FT	\$62.00	\$6,200.00	\$30.00	\$3,000.00	
	Bore in Dirt for 10in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC5		FT	\$68.00	,	\$30.00	\$60,000.00	
	Bore in Rock for 10in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC6	200	FT	\$78.00	\$15,600.00	\$38.00	\$7,600.00	
-	Bore in Dirt for 12in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC7	300	FT	\$100.00	\$30,000.00	\$38.00	\$11,400.00	
-	Bore in Rock for 12in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC8	100	FT	\$108.00	\$10,800.00	\$45.00	\$4,500.00	
	Bore in Dirt for 14in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC9	300	FT	\$163.00	\$48,900.00	\$40.00	\$12,000.00	
38	Bore in Rock for 14in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC10	100	FT	\$171.00	\$17,100.00	\$50.00	\$5,000.00	

Exhibit 2 RFP 8054 - Pricing Evaluation for Directional Boring Services

	J&B Five Point						C&C Directional Boring,		
	Re	Respondent's Business Name				Construction, LLC		LLC	
	Principal Place o	*			Justin, TX			Shores, TX	
Line #	Description	Mfgno		UOM	Unit	Extended	Unit	Extended	
39	Bore in Dirt for 16in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC11	300	FT	\$171.00	\$51,300.00	\$45.00	\$13,500.00	
40	Bore in Rock for 16in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC12	100	FT	\$179.00	\$17,900.00	\$55.00	\$5,500.00	
41	Bore in Dirt for 18in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC13	300	FT	\$174.00	\$52,200.00	\$50.00	\$15,000.00	
42	Bore in Rock for 18in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC14	100	FT	\$182.00	\$18,200.00	\$70.00	\$7,000.00	
43	Bore in Dirt for 20in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC15	300	FT	\$184.00	\$55,200.00	\$165.00	\$49,500.00	
44	Bore in Rock for 20in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC16	100	FT	\$192.00	\$19,200.00	\$275.00	\$27,500.00	
45	Bore in Dirt for 24in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC17	300	FT	\$195.00	\$58,500.00	\$220.00	\$66,000.00	
46	Bore in Rock for 24in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC18	100	FT	\$203.00	\$20,300.00	\$339.00	\$33,900.00	
47	Bore in Dirt for 30in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC19	300	FT	\$244.00	\$73,200.00	\$247.00	\$74,100.00	
48	Bore in Rock for 30in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC20	100	FT	\$252.00	\$25,200.00	\$425.00	\$42,500.00	
49	Bore in Dirt for 36in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC21	300	FT	\$248.00	\$74,400.00	\$296.00	\$88,800.00	
50	Bore in Rock for 36in diameter steel casing with Conduit Lines installed in Steel Casing	DBSC22	100	FT	\$256.00	\$25,600.00	\$509.00	\$50,900.00	
51	SECTION III: STEEL CASING TO BE SUPPLIED BY CONTRACTOR		•						
52	4in Diameter steel casing with 0.2500in minimum thickness	SC4	500	FT	\$11.00	\$5,500.00	\$12.82	\$6,410.00	
53	6in Diameter steel casing with 0.2500in minimum thickness	SC6	500	FT	\$18.00	\$9,000.00	\$22.71	\$11,355.00	
54	8in Diameter steel casing with 0.2500in minimum thickness	SC8	500	FT	\$22.00	\$11,000.00	\$24.73	\$12,365.00	
55	10in Diameter steel casing with 0.2500in minimum thickness	SC10	500	FT	\$30.00	\$15,000.00	\$37.38	\$18,690.00	
56	12in Diameter steel casing with 0.2500in minimum thickness	SC12	500	FT	\$60.00	\$30,000.00	\$38.53	\$19,265.00	
57	14in Diameter steel casing with 0.3125in minimum thickness	SC14	500	FT	\$120.00	\$60,000.00	\$74.18	\$37,090.00	
58	16in Diameter steel casing with 0.3125in minimum thickness	SC16	500	FT	\$125.00	\$62,500.00	\$84.53	\$42,265.00	
59	18in Diameter steel casing with 0.3125in minimum thickness	SC18	500	FT	\$126.00	\$63,000.00	\$101.20	\$50,600.00	
60	20in Diameter steel casing with 0.3750in minimum thickness	SC20	500	FT	\$130.00	\$65,000.00	\$110.40	\$55,200.00	
61	24in Diameter steel casing with 0.4375in minimum thickness	SC24	500	FT	\$140.00	\$70,000.00	\$173.65	\$86,825.00	
62	30in Diameter steel casing with 0.5000in minimum thickness	SC30	500	FT	\$180.00	\$90,000.00	\$205.85	\$102,925.00	
63	36in Diameter steel casing with 0.5625in minimum thickness	SC36	500	FT	\$182.00	\$91,000.00	\$278.30	\$139,150.00	
	SECTION IV: BORES WITH STEEL CASING ONLY INSTALLED. Price includes all costs	required p	er speci	fication	s excluding s	teel casing cos	sts. Pit exca	vation and	
64	backfill to be included.						_		
65	Bore in Dirt for 4in diameter steel casing installed in Steel Casing	DBS1	2000	FT	\$60.00	\$120,000.00	\$13.00	\$26,000.00	
66	Bore in Rock for 4in diameter steel casing installed in Steel Casing	DBS2	200	FT	\$60.00	\$12,000.00	\$18.00	\$3,600.00	
67	Bore in Dirt for 6in diameter steel casing installed in Steel Casing	DBS3	1000	FT	\$67.00	\$67,000.00	\$16.00	\$16,000.00	
68	Bore in Rock for 6in diameter steel casing installed in Steel Casing	DBS4	100	FT	\$70.00	\$7,000.00	\$22.00	\$2,200.00	
69	Bore in Dirt for 8in diameter steel casing installed in Steel Casing	DBS5	2000	FT	\$71.50	\$143,000.00	\$20.00	\$40,000.00	
70	Bore in Rock for 8in diameter steel casing installed in Steel Casing	DBS6	200	FT	\$73.50	\$14,700.00	\$28.00	\$5,600.00	
71	Bore in Dirt for 10in diameter steel casing installed in Steel Casing	DBS7	300	FT	\$80.00	\$24,000.00	\$22.00	\$6,600.00	
72	Bore in Rock for 10in diameter steel casing installed in Steel Casing	DBS8	100	FT	\$82.50	\$8,250.00	\$33.00	\$3,300.00	
73	Bore in Dirt for 12in diameter steel casing installed in Steel Casing	DBS9	300	FT	\$87.00	\$26,100.00	\$35.00	\$10,500.00	
74	Bore in Rock for 12in diameter steel casing installed in Steel Casing	DBS10	100	FT	\$90.00	\$9,000.00	\$40.00	\$4,000.00	

	Re	Respondent's Business Nam					C&C Directional Boring, LLC		
	Principal Place of				Justin, TX			Shores, TX	
Line #	Description	Mfgno	QTY	UOM	Unit	Extended	Unit	Extended	
75	SECTION V: DIRECTIONAL BORE (NO STEEL CASING) Contractor is to install conduit provided by the City. PIT EXCAVATION/BACKFILL SHALL NOT BE INCLUDED IN UNIT PRICING. In the event that pit excavation/backfill is required, Section VI includes separate pricing for these items. SEE SPECIAL EXCEPTIONS FOR THIS SECTION IN THE SOW								
76	Bore in Dirt with 1in Line installed	DB1	3500	FT	\$12.00	\$42,000.00		\$31,500.00	
77	Bore in Rock with 1in Line installed	DB2	1000	FT	\$14.00	\$14,000.00		\$12,000.00	
78	2in Diameter Bore in Dirt	DB3	15000	FT	\$12.00	\$180,000.00	\$9.00	\$135,000.00	
79	2in Diameter Bore in Rock	DB4	7500	FT	\$14.00	\$105,000.00	\$12.00	\$90,000.00	
80	4in Diameter Bore in Dirt	DB5	1500	FT	\$16.00	\$24,000.00	\$12.00	\$18,000.00	
81	4in Diameter Bore in Rock	DB6	750	FT	\$18.00	\$13,500.00	\$14.00	\$10,500.00	
82	6in Diameter Bore in Dirt	DB7	1500	FT	\$20.00	\$30,000.00	\$14.00	\$21,000.00	
83	6in Diameter Bore in Rock	DB8	750	FT	\$22.00	\$16,500.00	\$16.00	\$12,000.00	
84	8in Diameter Bore in Dirt	DB9	1500	FT	\$20.00	\$30,000.00		\$27,000.00	
85	8in Diameter Bore in Rock	DB10	750	FT	\$22.00	\$16,500.00		\$16,500.00	
86	10in Diameter Bore in Dirt	DB11	1500	FT	\$20.00	\$30,000.00	\$22.00	\$33,000.00	
87	10in Diameter Bore in Rock	DB12	750	FT	\$22.00	\$16,500.00	\$25.00	\$18,750.00	
88	12in Diameter Bore in Dirt	DB13	1500	FT	\$20.00	\$30,000.00	\$25.00	\$37,500.00	
89	12in Diameter Bore in Rock	DB14	750	FT	\$22.00	\$16,500.00	\$27.00	\$20,250.00	
90	14in Diameter Bore in Dirt	DB15	1500	FT	\$24.00	\$36,000.00	\$26.00	\$39,000.00	
91	14in Diameter Bore in Rock	DB16	750	FT	\$26.00	\$19,500.00	\$28.00	\$21,000.00	
92	16in Diameter Bore in Dirt	DB17	1500	FT	\$28.00	\$42,000.00	\$28.00	\$42,000.00	
93	16in Diameter Bore in Rock	DB18	750	FT	\$30.00	\$22,500.00		\$26,250.00	
				Total:	\$4,157	,750.00	\$4,73	732,790.00	
94	SECTION VI: MISCELLANEOUS								
95	Mobilization Fee for Bores less than 20 ft. in length.		1	EA	\$750.00	\$750.00	\$750.00	\$750.00	
96	Barricades, Warning, and Detour Signage (per job)	M2	1	EA	\$2,500.00	\$10,000.00	\$0.00	\$0.00	
97	Remove repair of up 20 sq ft of concrete/asphalt	M3	1	LS	\$38.00	\$8.50	\$1,000.00	\$1,000.00	
98	Remove repair of 20-40 sq ft of concrete/asphalt	M4	1	LS	\$75.00	\$9.50	\$2,000.00	\$2,000.00	
99	ADDER: Cleanup and Restoration (Section V only)	M5	1	SY	\$25.00	\$25.00	\$75.00	\$75.00	
100	ADDER: Excavation of Sending and Receiving Viewing Pit \$/ foot deep/ pit (Section V only)	M6	1	FT	\$750.00	\$750.00	\$45.00	\$45.00	
101	ADDER: Backfill of Viewing Pit (Section V only)	M7	1	EA	\$350.00	\$350.00	\$300.00	\$300.00	
102	ADDER: Hourly crew rate for waiting on pits to be excavated	M8	1	EA	\$400.00	\$450.00	\$185.00	\$185.00	
103	Payment and Performance Bonds for a single project exceeding \$250,000 (100% of \$250,000)	M9	1	LS	\$57,000.00	\$57,000.00	\$7,500.00	\$7,500.00	
104	Core drills to spot utilities under concrete/pavement		1	EA	\$130.00	\$250.00	\$150.00	\$150.00	

Exhibit 2 RFP 8054 - Pricing Evaluation for Directional Boring Services

		J&B Fi	ive Point	C&C Dire	ctional Boring,	
	Respondent's Business Name:	Respondent's Business Name: Construction, LL			LLC	
	Principal Place of Business (City and State):	al Place of Business (City and State): Justin, T			Shady Shores, TX	
Line #	Description Mfgno QTY UOM	Unit	Extended	Unit	Extended	
Evaluati	on					
				C & C Directional Boring,		
Item #	tem # Standard Criteria			LLC		
1 5	1 Safety - 10%		7.60		6.80	
2 (Compliance with Specifications - 10%	6	.40		5.60	
3]	Probable Performance - 30%	19	0.20		15.60	
4]	Price, Total Cost of Ownership - 50%	50).00	4	46.00	
	Total Score:	83	3.20	,	74.00	